


Date Observations Subgroup Size=5
Brake pad 

Length=150±1mm

12.03.2019 149.9 LSL=149 µ=150 USL=151

12.03.2019 149.3

12.03.2019 149.5

12.03.2019 149.8

12.03.2019 149.9

12.03.2019 149.8

12.03.2019 149.8

12.03.2019 149.8

12.03.2019 149.7

12.03.2019 150

12.03.2019 150.1

12.03.2019 150.2

Sample frequency=5 sample per hour

…. 
…. 

12.03.2019 149.9

12.03.2019 149.8

13.03.2019 149.5

13.03.2019 149.5

13.03.2019 149.8

13.03.2019 150.4

13.03.2019 150.4

13.03.2019 150.3

13.03.2019 150.4

13.03.2019 150.3

13.03.2019 150.3

13.03.2019 150.2
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Then Now 




